<U-30Y—49 > F 4 (BH M X RR—

i, £8: BIARXYYH—

JJJJZ:
RS B RISB M e BHT-L] = = RFEAR G BT BE
@
2
o | 9:00
2
4
Fl o
10:20
©)
4 11:50
A
7
=}
@
13:20
_| ®
g | 1440
g
H
L
ERED . EiEBm A BYT-L BE e EFB AR b BT-L| BE
@ ABE®RITVDT=O HEHRIZVYOD=O
2
o | 9:00
2
4
=3 ® HAEEISVODT=H HERISVIO D=
10:20
3 ABE®RITVDT=O HEHRIZVYOD=H
4
g | 11:50
1
4
AH @ HEHEISID=H REHRITVOD=H
13:20
6 ABE®RITVDT=O HEHRIZVYO DO
14:40
HEHEISVYD=H REERITVD=H
NN NUF el ERET ~NUFEgall ~UF B gef JI7 ILAF—L




<u-30Y— 7>I1‘EZ(E7J')E_1"L|Z7\7|'\ — IR TE BIRGIYA—H=
H{t| BFRH e, R /5B AEp-ZHF-L] [FE EE,,JHAE Aeb-BHTF-L] BE
B —5 280 TAPAN| E&=
HA4F240 VS TAN ' —| £ 8 sznaA|E—HE U-15
9 ) 0 — 4 1 MEBEANEF—L
o | 9:00 BIEC 0 — 2 ) B2 BEHh
9 ®¥( 0 — 2 ) |mE XMEkF
1 ERASTE AFF
& TAPAN VS H#&# [x&E digE u-15
@ 1 — 0 Bl IM%E
10:20(@7T#(C 1 — 0 ) Bl2 #&Ishz
#BFECO0O — 0 ) E BEHZ
BEALTFE EAY| EBE
AFF VS 7a—2qvva|F B’ FHEREE |sr—7vvats U-15
s | © 2 — 0 21 TR |3 )%
H 11:50 @1 1 — 0 ) g2 &1=<F
9 #BEC1 — 0 ) POZE ARFSO
1 ERASTE e
= EILAY VS D4ILEXR|EE WWRESE| v1LER2 u-15
@ 0o — 2 g1 akm|dE HE
13:20|RI#(C 0 — 2 ) B2 FNE®S
#BFECO0O — 0 ) OE {E%E
U-15
U-15
17:30
®rr| _ _
ERRINED] e, Ei5B ARER-BHTF-L| ([ e R IB AR ANER-=HIF-L| B2
=ERREFE AXF a&“&."
BiE VS DESAFIO | & T u-12
9 D 0 — 0 =R ﬁaﬁ—J_\
o | 9:00 AT ( — ) 2|2
9 #F( — ) mE
4 %ik%%i& FFyavk
e AXEX VS UIurIn—|EE u-12
@ 0o — 0 &1
10:20 | AT ( — ) g2
B — ) Lz
B —5 2%k LAYz R| 512 5]
77)avk VS  revival |EE £=HE u-12
4 ® 0 — 0 =R mF—L
5 11:50 |RIT ( — ) &2
9 #F( — ) mE
8 ‘Eﬁ'J—dZ%I} revival
5 LAPTRA VS P—9 |8 U-12
@ 0 — 0 201
13:20 | AT ( — ) g2
B — ) Lz
U-12
U-12
17:30
BT
ANYF ERAl ANUFTREl EREF NUFERE NUFT A Jx7ILAF—L




